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B MLK.3  
celetsoK ýnevreČ JT  -   ecivotareN JT  3:5  3613 - 8603  )5,9:5,41(  .20.20  

B dohcáN KKS  -   uoreziJ dan ecintykoR katrapS  2:6  5333 - 8223  )5,9:5,41(  .20.20  
B ynavonrT adzěvH KK  -   B níčiJ KKS  1:7  1223 - 3703  )9:51(  .20.20  
vonkulŠ NOTSALP KS   -    avitomokoL JT mebaL dan ítsÚ  5:3  6303 - 1213  )41:01(  .20.20  
vonturT avitomokoL JT  -   dan vonhcyR tratS JT  uonžěnK  5:3  6713 - 4813  )41:01(  .20.20  
ysonomsoK amukA KK  -   cerebiL omanyD JT  4:4  9823 - 6123  )9:51(  .20.20  

:aklubaT  
 .1   celetsoK ýnevreČ JT  41  11  0 3 5,44:5,76  1:0,971 0,75  4123  22  
 .2  B níčiJ KKS  41  01  0 4 0,93:0,37  5,541:5,091  1813  02  
 .3   mebaL dan ítsÚ avitomokoL JT  41  9 1 4 0,84:0,46  0,351:0,381  8513  91  
 .4   ysonomsoK amukA KK  41  8 1 5 5,84:5,36  0,351:0,381  2323  71  
 .5  dan vonhcyR tratS JT   uonžěnK  41  8 0 6 ,94:0,36 0 5,271:5,361  7613  61  
 .6   cerebiL omanyD JT  41  7 2 5 5,15:5,06  0,861:0,861  6523  61  
 .7   uoreziJ dan ecintykoR katrapS  41  6 1 7 0,26:0,05  5,971:5,651  0813  31  
 .8  B dohcáN KKS  41  6 0 8 0,26:0,05  0,671:0,061  1913  21  
 .9   ecivotareN JT  41  5 1 8 0,36:0,94  ,851 5,771:5  9313  11  
 .01  vonkulŠ NOTSALP KS    41  4 0 01  0,76:0,54  0,271:0,461  6413  8 
 .11   vonturT avitomokoL JT  41  2 3 9 0,56:0,74  0,171:0,561  5613  7 
 .21  B ynavonrT adzěvH KK  41  3 1 01  5,27:5,93  0,191:0,541  1313  7 
 
 
 celetsoK ýnevreČ JT  3613  3:5  8603  areN JT ecivot  
   )5,9:5,41(  

 šelA LELMODEN  335  0:4  024  rímoraJ ŘÁNELKS  
 nápětŠ RETSUHCS  655  2:2  165  naJ LIPAVK  
 šákuL OKNAJ  845  5,1:5,2  925  naJ KÁZOK  
 jeřdnO SOKRM  194  1:3  364  rteP KECAV  
 naJ ŮMADA  325  2:2  745  kěduL REHU  
 levaP KÁVON  215  3:1  845  rímidalV LMUH  
 
or  :íčdohz ířiJ AHCUOD  

 :ůkávid 8 
 :olavrt ínáktu 51:3  

 
 B dohcáN KKS  5333  2:6  8223  .J .n ecintykoR katrapS  
   )5,9:5,41(  

 naliM ŠODJAG  125  3:1  765  .lm rímovalS AREPERT  
 naJ NROH  995  1:3  355  rteP HCUONAJ  
 šoliM ÝKSELOV  465  1:3  725  .lm kěnedZ ÝNTOVON  
 šelA ÝHCIT  065  1:3  005  .ts ířiJ  KEBÁRD  
 šámoT ŮMADA  745  2:2  755  levaP ANZYRT  
 šámoT REJAM  445  5,1:5,2  425  .lm ířiJ KEBÁRD  
 

 :íčdohzor ířiJ AHCUOD  
 :ůkávid 41  

 :olavrt ínáktu 22:3  
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 B ynavonrT adzěvH KK  1223  1:7  3703  B níčiJ KKS  
   )9:51(  

 rteP ATIBUK  135  1:3  205  CUPAK ířiJ NÁI  
 kedaR LDNAK  055  2:2  445  levaP ŽÍŘK  
 naJ FOHREGREB  365  0:4  454  kešitnarF KÁMREČ  
 rteP NAIBAF  615  2:2  705  notagA ÝKSNAŇALP  
 limuhoB LITÁRVAN  435  1:3  805  rímidalV ATALVAP  
 valsitarV ATIBUK  725  3:1  855  rímidalV KÁHEŘ  
 

 :íčdohzor rímidalV FOHREGREB  
vid  :ůká 01  

 :olavrt ínáktu 51:3  
 
 vonkulŠ NOTSALP KS   6303  5:3  1213  .L .n ítsÚ avitomokoL JT  
   )41:01(  

 naJ NADLOK  774  3:1  225  kedaR ÝKCEVOLAJ  
 kedaR KÁŠURAM  025  5,1:5,2  905  .ts nitraM AKLÁHAZ  
 naJ ŘÁNELKS  605  2:2  205  ířiJ KEPÍŠ  
 nínotnA ALRTOK  684  5,3:5,0  25 7 fesoJ BULOH  
 rteP RANJAV  155  1:3  635  nitraM ATABRV  
 fesoJ ÝKCINABUR  694  3:1  525  fesoJ ANELHOR  
 

 :íčdohzor valsoriM ÝLAM  
 :ůkávid 8 

 :olavrt ínáktu 00:3  
 
 vonturT avitomokoL JT  6713  5:3  4813  .n vonhcyR tratS JT  .nK  
   )41:01(  

 lahciM KEČLV  835  2:2  435   KEPÍŠ hcětjoV  
 leraK LÍVHCOTARK  025  2:2  984  nitraM ÝKSVOKALOH  
 ířiJ AKNIVREČ  625  3:1  655  kedaR GNUJ  
 valsoriM LEŽUK  665  1:3  705  )*( bukaJ ARUINES  
 šámoT ÝVAŠYR  055  3:1  585  robilaD RDNASK  
 valsoraJ KEČÍNEJ  674  3:1  315  nitraM KÁHIČ  
 

 :ínádířts  ARUINES :udoh .66 do lahciM ALAK + bukaJ  
 :íčdohzor naliM REČAK  

 :ůkávid 5 
 :olavrt ínáktu >onedevuen<  
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 ysonomsoK amukA KK  9823  4:4  6123  cerebiL omanyD JT  
   )9:51(  

 rteP KÁVON  645  2:2  165  hcětjoV ANICEP  
 kedaR ČJAT  635  2:2  055  .lm valsidaL RASJAW  
 šámoT NOLATJAB  845  1:3  805  ŽEŽ )*( namoR AKLU  
 valsoraJ ŘÁKŠOD  135  2:2  855  fesoJ ADJEZ  
 šobuL ŠENEB  795  0:4  205  našuD ANÍJ  
 valsorěV APÍŘ  135  2:2  735  keňedZ ANICEP  
 

 :ínádířts naJ CENALOH + namoR AKLUŽEŽ :udoh .14 do  
 :íčdohzor valsidalV ČJAT  

 :ůkávid 7 
 :olavrt ínáktu 95:2  

 

índarhán ytratS :ůk  

 :trats .2 )94802 ,cerebiL .nyD( naJ CENALOH  

 :trats .1  ,ecintykoR( .ts ířiJ  KEBÁRD ,)03611 ,níčiJ( ířiJ NÁICUPAK ,)39000 ,níčiJ( kešitnarF KÁMREČ
 ÝKSVOKALOH ,)06520 ,ecivotareN( rímoraJ ŘÁNELKS ,)42081 ,ecivotareN( rímidalV LMUH ,)94440

vonhcyR( nitraM )60841 ,vonhcyR( lahciM ALAK ,)55060 ,  

:ůcviltondej ídařoP  
 .1  šobuL ŠENEB   .B.M amukA  7,855  7 / 7  
 .2  hcětjoV ANICEP   cerebiL .nyD  2,855  7 / 6  
 .3  naJ NROH  B dohcáN  1,655  5 / 5  
 .4  levaP ADUOL  B níčiJ  6,255  7 / 6  
 .5  robilaD RDNASK   vonhcyR  5,255  7 / 6  
 6. šámoT ÝVAŠYR   vonturT  6,945  6 / 6  
 .7  keňedZ ANICEP   cerebiL .nyD  2,945  7 / 7  
 .8  nitraM LÝM   celetsoK .Č  1,845  7 / 6  
 .9  valsorěV APÍŘ   .B.M amukA  0,845  7 / 7  
 .01  naJ LIPAVK   ecivotareN  6,645  6 / 5  
 .11  nitraM ATABRV   .L/n ítsÚ .koL  4,645  6 / 6  
 .21  ON levaP KÁV   celetsoK .Č  3,645  7 / 5  
 .31  našuD KECOLP   ecivotareN  5,345  6 / 6  
 .41  fesoJ ÝKCINABUR   vonkulŠ  2,345  6 / 6  
 .51  naJ ŮMADA   celetsoK .Č  9,245  7 / 6  
 .61  šelA ÝHCIT  B dohcáN  8,245  5 / 5  
 .71  nitraM FOHREGREB  B ynavonrT  7,245  7 / 6  
 .81  J LAKSJETS buka   ecintykoR  8,045  6 / 4  
 .91  fesoJ ADJEZ   cerebiL .nyD  7,045  7 / 7  
 .02  šámoT NOLATJAB   .B.M amukA  1,045  7 / 6  
 .12  nitraM KÁHIČ   vonhcyR  8,935  7 / 6  
 .22  šelA LELMODEN   celetsoK .Č  3,935  7 / 7  
 .32  kedaR ÝKCEVOLAJ   .L/n ítsÚ .koL  2,935  6 / 4  
 .42  OVON .lm kěnedZ ÝNT   ecintykoR  4,835  6 / 6  
 .52  kedaR ČJAT   .B.M amukA  3,635  7 / 6  
 .62  fesoJ BULOH   .L/n ítsÚ .koL  0,635  6 / 6  
 .72  valsoraJ KEČÍNEJ   vonturT  5,535  6 / 6  
 .82  našuD ANÍJ   cerebiL .nyD  9,435  7 / 5  
 .92  .lm rímovalS AREPERT   ecintykoR  6,435  6 / 6  
 .03  kedaR GNUJ   vonhcyR  1,435  7 / 7  
 .13  limuhoB LITÁRVAN  B ynavonrT  6,335  7 / 6  
 .23  rteP HCUONAJ   ecintykoR  3,335  6 / 5  
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 .33  valsoriM KÍLZNAH   vonhcyR  8,235  7 / 6  
 .43  šámoT REJAM  B dohcáN  8,135  5 / 5  
 .53  namoR AKLUŽEŽ   cerebiL .nyD  8,135  7 / 7  
 .63  M jeřdnO SOKR   celetsoK .Č  4,135  7 / 7  
 .73  rteP RANJAV   vonkulŠ  9,035  6 / 6  
 .83  rímidalV KÁHEŘ  B níčiJ  8,035  7 / 6  
 .93  šámoT ŮMADA  B dohcáN  2,825  5 / 5  
 .04  rteP ATIBUK  B ynavonrT  9,725  7 / 6  
 .14  valsoraJ ŘÁKŠOD   .B.M amukA  2,725  7 / 7  
 .24  ířiJ AKNIVREČ   vonturT  9,525  6 / 5  
 .34  leraK LÍVHCOTARK   vonturT  8,525  6 / 6  
 .44  hcětjoV KEPÍŠ   vonhcyR  5,525  7 / 7  
 .54  valsoriM KCORUB   ecivotareN  4,525  6 / 6  
 .64  rteP KÁVON   .B.M amukA  4,525  7 / 7  
 .74  valsoriM LEŽUK   vonturT  3,525  6 / 6  
 .84  rteP NAIBAF  ynavonrT  B 2,425  7 / 5  
 .94  rteP AKŽOB   ecivotareN  0,425  6 / 5  
 .05  rímidalV ATALVAP  B níčiJ  8,325  7 / 7  
 .15  nínotnA ALRTOK   vonkulŠ  5,325  6 / 6  
 .25  kěduL REHU   ecivotareN  4,325  6 / 5  
 .35  fesoJ ANELHOR   .L/n ítsÚ .koL  8,225  6 / 5  
 .45  valsoraJ ŽÍŘK  B níčiJ  ,125 7 7 / 5  
 .55  naJ FOHREGREB  B ynavonrT  6,125  7 / 6  
 .65  kedaR KÁŠURAM   vonkulŠ  6,125  6 / 6  
 .75  ířiJ KEPÍŠ   .L/n ítsÚ .koL  1,125  6 / 6  
 .85  šákuL OKNAJ   celetsoK .Č  0,125  7 / 5  
 .95  naJ NADLOK   vonkulŠ  6,025  6 / 6  
 .06  rteP SAŘAM   ecintykoR  7,915  6 / 5  
 .16  nínotnA ARUĎAB  B dohcáN  6,815  5 / 4  
 .26  šoliM ÝKSELOV  B dohcáN  9,715  5 / 5  
 .36  kedaR LDNAK  B ynavonrT  7,715  7 / 5  
 .46  .ts nitraM AKLÁHAZ   .L/n ítsÚ .koL  8,515  6 / 5  
 .56  lahciM KEČLV   vonturT  6,515  6 / 6  
 .66  rteP KECAV   ecivotareN  9,215  6 / 5  
 .76  PAK ířiJ NÁICU  B níčiJ  3,115  7 / 5  
 .86  valsitarV ATIBUK  B ynavonrT  5,905  7 / 6  
 .96  naJ ŘÁNELKS   vonkulŠ  3,905  6 / 6  
 .07  bukaJ ARUINES   vonhcyR  8,805  7 / 6  
 .17  naJ KÁZOK   ecivotareN  8,705  6 / 4  
  šákuL ŠERIJ   cerebiL .nyD  5,285  7 / 2  
  levaP KENÁŠUD  vonhcyR   0,665  7 / 1  
  .lm valsidaL RASJAW   cerebiL .nyD  9,265  7 / 3  
  naJ ANÍB  B níčiJ  0,165  7 / 3  
  .lm ířiJ KEBÁRD   ecintykoR  3,155  6 / 3  
  rímidalV LMUH   ecivotareN  0,845  6 / 1  
  naJ CENALOH   cerebiL .nyD  0,445  7 / 2  
  lahciM ALAK   vonhcyR  0,145  7 / 1  
   ŽÍŘK levaP  B níčiJ  5,735  7 / 4  
  naliM ŠODJAG  B dohcáN  8,535  5 / 2  
  levaP AHÍŘ   .B.M amukA  6,535  7 / 4  
  .ts valsidaL RASJAW   cerebiL .nyD  5,535  7 / 4  
  levaP ANZYRT   ecintykoR  1,435  6 / 3  
  nápětŠ RETSUHCS   celetsoK .Č  0,135  7 / 4  
  ířiJ AHCÁP   vonhcyR  0,725  7 / 1  
  namoR ŠERUB  B níčiJ  5,625  7 / 2  
  notagA ÝKSNAŇALP  B níčiJ  3,625  7 / 4  
  valsidaL KERUOŠ   .L/n ítsÚ .koL  7,225  6 / 3  
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  limuhoB ANIŘUK   ecintykoR  5,225  6 / 2  
  kěnybZ RELSZOR   vonturT  0,225  6 / 1  
  valsidaL AKVIŘK  B níčiJ  0,815  7 / 2  
  ěnedZ ÝNTOVON .ts k   ecintykoR  5,715  6 / 2  
  valsoraJ OKSUJ   vonturT  0,715  6 / 2  
  naliM KEŠÁLAV   ecintykoR  5,515  6 / 2  
  valsoraJ LAMÁŠ   cerebiL .nyD  0,115  7 / 1  
  valsoraJ ADJEMŠ   vonhcyR  5,905  7 / 2  
  jeřdnO HILBOK  B ynavonrT  2,605  7 / 4  
  .ts ířiJ  KEBÁRD   ecintykoR  0,005  6 / 1  
  ířiJ HCILMURB  B níčiJ  0,994  7 / 1  
  nitraM ÝKSVOKALOH   vonhcyR  5,894  7 / 1  
  valsoriM HCILDEW   .L/n ítsÚ .koL  0,794  6 / 2  
  éneR AKREMEH   vonkulŠ  5,494  6 / 2  
  kěnedZ AKBAB   vonturT  5,494  6 / 1  
  šoliM NAMFOH  B dohcáN  0,194  5 / 1  
  naJ SAŘAM   ecintykoR  5,984  6 / 2  
  rteP RENIETŠ   ecivotareN  0,984  6 / 1  
  rteP SULÁG   vonhcyR  0,274  7 / 1  
  kešitnarF KÁMREČ  B níčiJ  0,454  7 / 1  
  rímoraJ ŘÁNELKS   ecivotareN  0,024  6 / 1  

 :ysapáz íšžilbjeN  

olok .51  
31.20.90  os  03:31   ysonomsoK amukA KK -  ýnevreČ JT celetsoK  
31.20.90  os  00:01   cerebiL omanyD JT - vonturT avitomokoL JT  
31.20.90  os  00:01  dan vonhcyR tratS JT   uonžěnK - vonkulŠ NOTSALP KS   
31.20.90  os  00:41   mebaL dan ítsÚ avitomokoL JT - B ynavonrT adzěvH KK  
31.20.90  os  00:01   B níčiJ KKS - B dohcáN KKS  

.90 31.20  os  00:01   uoreziJ dan ecintykoR katrapS - ecivotareN JT  

 


